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ECONOMICS
Full Marks : 100

‘Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
Jor the questions.

Part I (3 -91)

Q. No. 1 (a-f) carries 1 mark each W e 5
@ N2 = carries 2 marks each 2x6 =12
Q. No.. 8-12 carries 4 marks each 4x5 =20
Q. No. 13 & 14 carries 6 marks each ‘ 6x2 =12

Total =50

Part II (¥ -9

Q. No. 15 (a-f) carries 1 mark each 1x6 = 6
Q. No. 16 -21 cqrries 2 marks each 2x6 =12
Q. No. 22-26 carries 4 maris each 4x5 =20
Q. No. 27 & 28 carries 6 marks each 6x2 =12

Total =50

Total (Part I & II): 50 + 50 =100
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PART A — F 9

I ) D cinelsenvice : ' : 1
R ke |
(b) Fill in the blank:
The allocation of ____ resources and distribution of.the

final goods and services are the central problems of any
economy. 1

memmmm@ﬁ? iﬁﬁmm |
“\512@1‘? FRI AT |
(c) What is a demand function ? : 1

Bifznl Toe 5 2

(d) What happens to total product when marginal product is zero ?
1

olife Tesiva = TeE o TAMR fF = 2

(e) What does a vertical supply curve imply ? 1
Rk faio SRR EN S

() Why is average total cost (ATC) greater than average variable ]
cost (AVC) ? : 1
MG ~RAGTI ST oG §o T 67 AR ¢ ‘

2. State the meaning of microeconomics and macroeconomics.

2
JfEAR SIS o= smfRan wLmifeT wd B
3. Why does a budget line slope downward ? , 2

GTTE JAMCETD (I3 SeTEicss (el ([ 2

4. If the total utilities of 4 and 5 units of a commodity for a consumer

are 56 and 60 respectively, calculate the marginal utility of 4 units
of it for " It 2
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10.

1

1.2

TS| GO < T IR 4 W= 5 IS Jo TAIS! T 56 @i 60
R (9T A TREA 4 (9li59 2Nifees ToiiEre) Fefr <1 :

State any two exceptions of the law of demand. 2

oifewl RIEAGR R 7o rfees B |

Define the term “long-run” as used in production. i : 2

AT SRS IRTS “TFIeS et |

State any two assumptions of the law of variable proportions.

2
ARRSTIE Seives RRGR R 7o) sfeamal 5| )
Distinguish between Su-pply and stock. ; £
M S TGS (12 (et |
| OR / &34

Explain briefly any Jour factors affecting supply of a commodity. -

GBI AFETR @M eheifie o) Ricspical o1/56! 1< R 550 <g1<yl <1 |

Explain the law of Supply with the help of a supply schedule.

@I STPIb R SRS s RRGH a5t <5 |

State the relationship between average cost (AC) and marginal cost
(MC) using diagram. 55

fo@ 92T+ 5% 7 (AC) W= =i 7 (MC) S 7™ {5720 |

State the distinction between explicit cost and implicit cost. Give
one example of each of them. DD =

SR S SRS TRE 22y Bl | Ao GBI Tresel Tz |

Write down three characteristics of monopolistic competition. State
whether the output produced by a firm under such a market is
higher/lower than or equal to that of a firm ynder perfect
competition. 3+1=4
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1145,

i afswirenEe eiRs foRor @R 7 G TERT R Aoy
G2 TeAEE AR vﬁ@iﬁﬂﬁ*{qmwwﬁmaww
wifees /< (A T |

OR / <i%4l
“Monopoly firm is a price maker” — Explain. .

“ qBToal T eAfCOR @i ¥e HEEeREer — 60 /41 |

Explain the two basic conditions of consumer’s equilibrium assuming

that the consumer consumes only two goods. 6
AT (SR (e TiRK A (ols 6 I ARG (9 I AR € 751
<R <4 '

OR /1241

Explain the concepts of change in quantity demanded and change
in demand using suitable diagrams.

Toige bu T S bitnE R0 ARaed O bifRaE #RAEA qReseD]
RIENESSIN | '

The demand and supply functions of a firm under perfectly
competitive market are given below :
Q, = 200 — 2P and
Q, =100 + 3P
Find (i) The equilibrium price and output.
(i) If due to increased cost, the supply function becomes
Q. =-200 + 3P, what will be the changes in equilibrium

2

Price and Output ? 3+3=6

o)l eiferaifTonETs TEiRy ey dfov G¥as DIl SR Il o Sere Tl

EESIIRSEREA _

Q= 200 — 2Pt

Q. =-100 + 3P

() ORI VS SR ifgse fefw <5

(i) TE I@S AR @i o ww Q= —200 + 3P 2, GO SR T
m"fﬁmqﬂﬁ?ﬁﬁwﬁ?
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The total cost (TC) and prices (P) at different units of output of a
monopolist are given below :

(). Find out the total revenue (TR), marginal revenue (MR) and
marginal cost (MC) schedules.

() Find out the equilibrium quantity of output (6) (1+2+2)+1=6
QIR GBI TR Teotivas [iow ceﬁfﬁamqéam (TC) = Wi (P) w519
fra Gzl

() O (TR), &% Sm (MR) i 2 1 (MC) <S4
(i) AT Iy ARSI (Q) e w1

Q TC P
1 20 15
2 g5 sl
3 45 [hSH
4 Sili 12
5 58 111
6 66 10
7 76 9
8 88 8

PART B — ¥ 9

15. (a) What is the alternative name of macroeconomics ? 1

TR ST Jas 9 & 2

(b) What is the signiﬁéance of the 45° line in Keynesian income

determination model ? 1
(PETT SIT fiiviel wrifEe 45° @A wierky & o

(c) What is the value of MPC when MPS is zero ? ol
MPS & 3 #[y 2°s1, MPC T i {6 2

(d) What is foreign exchange rate ? ' 1

A [fwy g9 & ¢
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16.

177

1.8

19.

20.

L

22.

23,

(e) What is meant by appreciation of the currency of a country ?

1
G (P RIS SaleIEe e 5 g 2

() What is invisible trade? s
Sy ifeiey 5 2
Give any two examples of macroeconomic variable. _ 2

TR LA BoN e gor Tizel |

State the concept of depreciation in the context of national income
accounting. . 2

AZR SR 9T RIS SRR Q=es! &l |

If the marginal propensity to save (s) of an economy is 03, find out
the value of the income multiplier. : 2

<1 SerE® A AT Feq el (s) 0-3 T, (ORI S el i Bfereq |

State any two measures of fiscal policy to correct the problem of
excess demand in an economy. 2

<4ft IR SRS bifeni 7! va FREE SR Sied R 75 1)
T | )

Give the concept of full employment equilibrium. 2
ojef FNCIs SIRPIN Ai=elcE! SsRpi |

What is deficit financing ? 2
it Her= & ¢

What are the four factors of production ? Write down the name of
the remuneration to each of them. 25 k=)

TeAMT CoM BIRGT 5 2 Bries drord el 75 &1

Explain any four causes of disequilibrium in BOP. 4

(ET-CReTS TN SRARGE TSl figzmica bIiE5) BiEel il <541 |
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26.

e

28.

OI? / &=
Distinguish between factor income and transfer income. 4
THMINY SR SIS TG SIS Wo 712y (64 |

It is planned to increase national income by 21,000 crore in an
economy. How much increase in investment is required to achieve

 this goal if MPC = 0:6 ? i

96 SHRES TS =R 1,000 C@%W?@WWWE@I MPC
= 06 T T& 1O BT Tsel [ /e s & 2 wifbe 2

What is the meaning of government budget ? Distinguish between
revenue receipts and capital receipts. 1-+3=4

DI e WY 2 ez @i i Yl A Tow Ay e |
Point out two merits and two demerits of indirect tax. 2+2=4

7SI P 757 e W= 757 (i SieEEiR @ |

Explain the income. method bf calculating GDP. - 6
T0 TN CRAWH SloHE S AwReCH! <0iel w |
. OR /9251

Explain the relationship between investment multiplier and MPC.

G @i o= @it colsl gRdoR ieE FTRAE Ry <= |

Briefly explain any four functions of a commercial bank. 6
AT @ Riezpren 51751 G 50T T <= |
OR / G2<1

Describe the speculative demand for money.

AN FETIEETS Sifen R e 31|
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